Part II after doing questions 7,8  (third insertion box of part II) 

1. Answers don’t change from previous ones

  «Ï ----jGRASP exec: java Driver_Q1
ÏÏ§Ï
ÏÏ§ÏAge 12: 
ÏÏ§Ï Mike:  5 feet 5 inches 
ÏÏ§Ï Bill:  5 feet 5 inches 
ÏÏ§Ï == SAME ==
ÏÏ§Ï
ÏÏ§Ï
ÏÏ§ÏAge 16: 
ÏÏ§Ï Mike:  5 feet 5 inches 
ÏÏ§Ï Bill:  5 feet 5 inches 
ÏÏ§Ï == SAME ==
ÏÏ§Ï
ÏÏ§Ï
ÏÏ§ÏAge 20: 
ÏÏ§Ï Mike:  5 feet 5 inches 
ÏÏ§Ï Bill:  5 feet 5 inches 
ÏÏ§Ï == SAME ==
ÏÏ§Ï
ÏÏ§Ï
ÏÏ§ÏAge 70: 
ÏÏ§Ï Mike:  5 feet 5 inches 
ÏÏ§Ï Bill:  5 feet 5 inches 
ÏÏ§Ï == SAME ==
ÏÏ§Ï
ÏÏ§Ï
ÏÏ§Ï
ÏÏ©Ï ----jGRASP: operation complete.
¼¼ÏÏ
